

Separable Fractional Differential Equations

Chii-Huei Yu

School of Mathematics and Statistics, Zhaoqing University, Guangdong Province, China

Abstract: In this study, we use a new multiplication of fractional functions and chain rule for fractional derivatives to find the general solution of separable fractional differential equation, regarding the Jumarie type of modified Riemann-Liouville (R-L) fractional derivatives. On the other hand, an example is given for demonstrating the advantage of our result.

Keywords: New multiplication, Fractional functions, Chain rule, General solution, Separable fractional differential equations, Jumarie type of modified R-L fractional derivatives.

I. INTRODUCTION

Fractional Calculus (FC) is a natural generalization of calculus that studies the possibility of computing derivatives and integrals of any real (or complex) order [1-3], i.e., not just of standard integer orders, such as first-derivative, second-derivative, etc. The history of FC started in 1695 when L'Hôpital raised the question as to the meaning of taking a fractional derivative such as $\frac{d^{1/2}y}{dx^{1/2}}$ and Leibniz replied [2]: "...This is an apparent paradox from which, one day, useful consequences will be drawn." Since then, eminent mathematicians such as Fourier, Abel, Liouville, Riemann, Weyl, Riesz, and many others contributed to the field, but until lately FC has played a negligible role in physics. We describe as a fractional equation an equation that contains fractional derivatives or integrals. Derivatives and integrals of fractional order have found many applications in recent studies in physics [2-3]. Broad classes of analytical methods have been proposed for solving fractional differential equations, such as the Adomian decomposition methods [4-5], variational iteration methods [6-10], differential transform methods [11] and the homotopy perturbation method [12-14].

Unlike standard calculus, there is no unique definition of derivative in FC. The definition of fractional derivative is given by many authors. The commonly used definitions are the Riemann-Liouville (R-L) fractional derivative [15], Caputo definition of fractional derivative (1967) [3], the Grunwald-Letinikov (G-L) fractional derivative [15], and Jumarie's modified R-L fractional derivative is used to avoid nonzero fractional derivative of a constant functions [16].

In this article, we can obtain the general solution of separable fractional differential equation, regarding the Jumarie type of modified R-L fractional derivatives. A new multiplication of fractional functions and chain rule are used and the main result we obtained is the generalization of general solution of separable ordinary differential equations. Furthermore, an example is proposed to demonstrate the advantage of our result.

II. PRELIMINARIES

Firstly, we introduce the fractional calculus adopted in this paper.

Definition 2.1: Suppose that α is a real number and m is a positive integer. The modified Riemann-Liouville fractional derivatives of Jumarie type ([16]) is defined by

$${}_aD_x^\alpha[f(x)] = \begin{cases} \frac{1}{\Gamma(-\alpha)} \int_a^x (x-\tau)^{-\alpha-1} f(\tau) d\tau, & \text{if } \alpha < 0 \\ \frac{1}{\Gamma(1-\alpha)} \frac{d}{dx} \int_a^x (x-\tau)^{-\alpha} [f(\tau) - f(a)] d\tau & \text{if } 0 \leq \alpha < 1 \\ \frac{d^m}{dx^m} ({}_aD_x^{\alpha-m})[f(x)], & \text{if } m \leq \alpha < m+1 \end{cases} \quad (1)$$

where $\Gamma(y) = \int_0^\infty t^{y-1} e^{-t} dt$ is the gamma function defined on $y > 0$. If $({}_aD_x^\alpha)^n[f(x)] = ({}_aD_x^\alpha)({}_aD_x^\alpha) \dots ({}_aD_x^\alpha)[f(x)]$ exists, then $f(x)$ is called n -th order α -fractional differentiable function, and $({}_aD_x^\alpha)^n[f(x)]$ is the n -th

order α -fractional derivative of $f(x)$. We note that $({}_a D_x^\alpha)^n \neq {}_a D_x^{n\alpha}$ in general. Moreover, we define the fractional integral of $f(x)$, ${}_a I_x^\alpha [f(x)] = {}_a D_x^{-\alpha} [f(x)]$, where $\alpha > 0$, and $f(x)$ is called α -integral function. We have the following property [17].

Proposition 2.2: Suppose that α, β, c are real constants and $0 < \alpha \leq 1$, then

$${}_0 D_x^\alpha [x^\beta] = \frac{\Gamma(\beta+1)}{\Gamma(\beta-\alpha+1)} x^{\beta-\alpha}, \text{ if } \beta \geq \alpha \quad (2)$$

$${}_0 D_x^\alpha [c] = 0, \quad (3)$$

and

$$({}_0 I_x^\alpha)[x^\beta] = \frac{\Gamma(\beta+1)}{\Gamma(\beta+\alpha+1)} x^{\beta+\alpha}, \text{ if } \beta > -1. \quad (4)$$

Proposition 2.3 ([17]): If $0 < \alpha \leq 1$ and $f(x)$ is a continuous function, then

$$({}_a D_x^\alpha)({}_a I_x^\alpha)[f(x)] = f(x). \quad (5)$$

Secondly, some fractional functions are introduced below.

Definition 2.4 ([18]): The Mittag-Leffler function is defined by

$$E_\alpha(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(k\alpha+1)}, \quad (6)$$

where α is a real number, $\alpha > 0$, and z is a complex variable.

Definition 2.5 ([18]): $E_\alpha(\lambda x^\alpha)$ is called α -order fractional exponential function. The α -order fractional cosine and sine function are defined as follows:

$$\cos_\alpha(\lambda x^\alpha) = \sum_{k=0}^{\infty} \frac{(-1)^k \lambda^{2k} x^{2k\alpha}}{\Gamma(2k\alpha+1)}, \quad (7)$$

and

$$\sin_\alpha(\lambda x^\alpha) = \sum_{k=0}^{\infty} \frac{(-1)^k \lambda^{2k+1} x^{(2k+1)\alpha}}{\Gamma((2k+1)\alpha+1)}, \quad (8)$$

where $0 < \alpha \leq 1$, λ is a complex number, and x is a real variable.

The following is a new multiplication of fractional functions.

Definition 2.6 ([19]): Let λ, μ, z be complex numbers, $0 < \alpha \leq 1$, j, l, k be non-negative integers, and a_k, b_k be real numbers, $p_k(z) = \frac{1}{\Gamma(k\alpha+1)} z^k$ for all k . The \otimes multiplication is defined by

$$p_j(\lambda x^\alpha) \otimes p_l(\mu y^\alpha) = \frac{1}{\Gamma(j\alpha+1)} (\lambda x^\alpha)^j \otimes \frac{1}{\Gamma(l\alpha+1)} (\mu y^\alpha)^l = \frac{1}{\Gamma((j+l)\alpha+1)} \binom{j+l}{j} (\lambda x^\alpha)^j (\mu y^\alpha)^l, \quad (9)$$

where $\binom{j+l}{j} = \frac{(j+l)!}{j!l!}$.

If $f_\alpha(\lambda x^\alpha)$ and $g_\alpha(\mu y^\alpha)$ are two fractional functions,

$$f_\alpha(\lambda x^\alpha) = \sum_{k=0}^{\infty} a_k p_k(\lambda x^\alpha) = \sum_{k=0}^{\infty} \frac{a_k}{\Gamma(k\alpha+1)} (\lambda x^\alpha)^k, \quad (10)$$

$$g_\alpha(\mu y^\alpha) = \sum_{k=0}^{\infty} b_k p_k(\mu y^\alpha) = \sum_{k=0}^{\infty} \frac{b_k}{\Gamma(k\alpha+1)} (\mu y^\alpha)^k, \quad (11)$$

then we define

$$\begin{aligned} f_\alpha(\lambda x^\alpha) \otimes g_\alpha(\mu y^\alpha) &= \sum_{k=0}^{\infty} a_k p_k(\lambda x^\alpha) \otimes \sum_{k=0}^{\infty} b_k p_k(\mu y^\alpha) \\ &= \sum_{k=0}^{\infty} (\sum_{m=0}^k a_{k-m} b_m p_{k-m}(\lambda x^\alpha) \otimes p_m(\mu y^\alpha)). \end{aligned} \quad (12)$$

Proposition 2.7: $f_{\alpha}(\lambda x^{\alpha}) \otimes g_{\alpha}(\mu y^{\alpha}) = \sum_{k=0}^{\infty} \frac{1}{\Gamma(k\alpha+1)} \sum_{m=0}^k \binom{k}{m} a_{k-m} b_m (\lambda x^{\alpha})^{k-m} (\mu y^{\alpha})^m.$ (13)

Definition 2.8: Let $(f_{\alpha}(\lambda x^{\alpha}))^{\otimes n} = f_{\alpha}(\lambda x^{\alpha}) \otimes \dots \otimes f_{\alpha}(\lambda x^{\alpha})$ be the n times product of the fractional function $f_{\alpha}(\lambda x^{\alpha})$. If $f_{\alpha}(\lambda x^{\alpha}) \otimes g_{\alpha}(\lambda x^{\alpha}) = 1$, then $g_{\alpha}(\lambda x^{\alpha})$ is called the \otimes reciprocal of $f_{\alpha}(\lambda x^{\alpha})$, and is denoted by $(f_{\alpha}(\lambda x^{\alpha}))^{\otimes -1}$.

Remark 2.9: The \otimes multiplication satisfies the commutative law and the associate law, and is the generalization of ordinary multiplication, since the \otimes multiplication becomes the traditional multiplication if $\alpha = 1$.

Proposition 2.10: $E_{\alpha}(\lambda x^{\alpha}) \otimes E_{\alpha}(\mu y^{\alpha}) = E_{\alpha}(\lambda x^{\alpha} + \mu y^{\alpha}).$ (14)

Corollary 2.11: $E_{\alpha}(\lambda x^{\alpha}) \otimes E_{\alpha}(\mu x^{\alpha}) = E_{\alpha}((\lambda + \mu)x^{\alpha}).$ (15)

Definition 2.12: If $f(z) = \sum_{k=0}^{\infty} a_k z^k$, $g_{\alpha}(\mu x^{\alpha}) = \sum_{k=0}^{\infty} b_k p_k(\mu x^{\alpha})$, then

$$f_{\otimes \alpha}(g_{\alpha}(\mu x^{\alpha})) = \sum_{k=0}^{\infty} a_k (g_{\alpha}(\mu x^{\alpha}))^{\otimes k}. \tag{16}$$

Theorem 2.13 (chain rule for fractional derivatives) ([19]): If $f(z) = \sum_{k=0}^{\infty} a_k z^k$, $g_{\alpha}(\mu x^{\alpha}) = \sum_{k=0}^{\infty} b_k p_k(\mu x^{\alpha})$. Let $f_{\otimes \alpha}(g_{\alpha}(\mu x^{\alpha})) = \sum_{k=0}^{\infty} a_k (g_{\alpha}(\mu x^{\alpha}))^{\otimes k}$ and $f'_{\otimes \alpha}(g_{\alpha}(\mu x^{\alpha})) = \sum_{k=1}^{\infty} a_k k (g_{\alpha}(\mu x^{\alpha}))^{\otimes (k-1)}$, then

$$({}_0D_x^{\alpha})[f_{\otimes \alpha}(g_{\alpha}(\mu x^{\alpha}))] = f'_{\otimes \alpha}(g_{\alpha}(\mu x^{\alpha})) \otimes ({}_0D_x^{\alpha})[g_{\alpha}(\mu x^{\alpha})]. \tag{17}$$

Definition 2.14: Let x, y be real variables, $0 < \alpha \leq 1$, $f_{\alpha}(x^{\alpha})$, $g_{\alpha}(y^{\alpha})$ be α -integral functions. Then

$${}_aD_x^{\alpha}[y(x^{\alpha})] = f_{\alpha}(x^{\alpha}) \otimes g_{\alpha}(y^{\alpha}) \tag{18}$$

is called separable α -fractional differential equation.

III. MAIN RESULT

To obtain the general solution of Eq. (18), we need a lemma.

Lemma 3.1: Suppose that x, y are real variables, $0 < \alpha \leq 1$, $h_{\alpha}(y^{\alpha})$ is α -integral function defined on $[c, d]$, and $y = y(x^{\alpha})$ is α -differential function defined on $[a, b]$. Then

$${}_aI_x^{\alpha} [h_{\alpha}(y^{\alpha}) \otimes {}_aD_x^{\alpha}[y(x^{\alpha})]] = {}_cI_y^{\alpha}[h_{\alpha}(y^{\alpha})] + C_1, \tag{19}$$

where C_1 is a constant.

Proof By chain rule for fractional derivatives, we have

$${}_aD_x^{\alpha} [{}_cI_y^{\alpha}[h_{\alpha}(y^{\alpha})]] = h_{\alpha}(y^{\alpha}) \otimes {}_aD_x^{\alpha}[y(x^{\alpha})]. \tag{20}$$

Therefore, the desired result holds.

Q.e.d.

In the following, we obtain the general solution of Eq. (18).

Theorem 3.2: Assume that x, y are real variables, $0 < \alpha \leq 1$, and $f_{\alpha}(x^{\alpha})$, $g_{\alpha}(y^{\alpha})^{\otimes -1}$ are α -integral functions defined on $[a, b]$, $[c, d]$ respectively. Then the separable α -fractional differential equation

$${}_aD_x^{\alpha}[y(x^{\alpha})] = f_{\alpha}(x^{\alpha}) \otimes g_{\alpha}(y^{\alpha})$$

has the general solution

$${}_aI_x^{\alpha}[f(x^{\alpha})] - {}_cI_y^{\alpha}[g_{\alpha}(y^{\alpha})^{\otimes -1}] = C, \tag{21}$$

where C is a constant.

Proof Since

$$f_{\alpha}(x^{\alpha}) = g_{\alpha}(y^{\alpha})^{\otimes -1} \otimes {}_aD_x^{\alpha}[y(x^{\alpha})], \tag{22}$$

it follows that

$${}_aI_x^{\alpha}[f(x^{\alpha})] = {}_aI_x^{\alpha} [g_{\alpha}(y^{\alpha})^{\otimes -1} \otimes {}_aD_x^{\alpha}[y(x^{\alpha})]]. \tag{23}$$

Using Lemma 3.1 yields

$${}_a I_x^\alpha [f(x^\alpha)] = {}_c I_y^\alpha [g_\alpha(y^\alpha)^{\otimes -1}] + C. \quad (24)$$

Thus, the desired result holds.

Q.e.d.

IV. EXAMPLE

Next, we give an example to illustrate our result.

Example 4.1: Consider the separable $1/4$ -fractional differential equation

$${}_0 D_x^{1/4} [y(x^{1/4})] = \left(E_{1/4}(x^{1/4}) + \sin_{1/4}(x^{1/4}) \right) \otimes \left(y^{1/4} - \cos_{1/4}(y^{1/4}) + E_{1/4}(y^{1/4}) \right)^{\otimes -1}, \quad (25)$$

where $y(0) = 0$.

Using Theorem 3.2 yields the general solution of Eq. (25)

$${}_0 I_x^{1/4} \left[E_{1/4}(x^{1/4}) + \sin_{1/4}(x^{1/4}) \right] - {}_0 I_y^{1/4} \left[y^{1/4} - \cos_{1/4}(y^{1/4}) + E_{1/4}(y^{1/4}) \right] = C. \quad (26)$$

That is,

$$E_{1/4}(x^{1/4}) - \cos_{1/4}(x^{1/4}) - \frac{\Gamma(5/4)}{\Gamma(3/2)} y^{1/2} + \sin_{1/4}(y^{1/4}) - E_{1/4}(y^{1/4}) = C. \quad (27)$$

Since $y(0) = 0$, it follows that $C = -1$. Thus we get the particular solution of Eq. (25)

$$E_{1/4}(x^{1/4}) - \cos_{1/4}(x^{1/4}) - \frac{\Gamma(5/4)}{\Gamma(3/2)} y^{1/2} + \sin_{1/4}(y^{1/4}) - E_{1/4}(y^{1/4}) = -1. \quad (28)$$

V. CONCLUSION

As mentioned, we mainly use a new multiplication of fractional functions and chain rule for fractional derivatives to find the general solution of separable fractional differential equations. In the future, we also use the Jumarie type of modified R-L fractional derivatives and the new multiplication to extend the research topics to the problems of engineering mathematics and fractional calculus.

REFERENCES

- [1] K. B. Oldham, J. Spanier, The Fractional Calculus, Academic Press, New York-London, 1974.
- [2] K. S. Miller, B. Ross, An Introduction to the Fractional Calculus and Fractional Differential Equations, Wiley-Interscience Publication, John Wiley & Sons, Inc., New York, 1993.
- [3] I. Podlubny, Fractional Differential Equations, Vol. 198 of Mathematics in Science and Engineering. Academic Press, Inc., San Diego, CA, 1999.
- [4] S. Momani, "Analytical approximate solution for fractional heat-like and wave-like equations with variable coefficients using the decomposition method," Applied Mathematics and Computation, Vol. 165, pp. 459-472, 2005.
- [5] Z. Odibat, S. Momani, "Numerical solution of Fokker-Planck equation with space- and time-fractional derivatives," Physics Letters A, Vol. 369, pp.349-358, 2007.
- [6] Z. Odibat, S. Momani, "The variational iteration method: An efficient scheme for handling fractional partial differential equations in fluid mechanics," Computers & Mathematics with Applications, Vol. 58, pp. 2199-2208, 2009.
- [7] Mustafa Inc, "The approximate and exact solutions of the space and time-fractional Burgers equations with initial conditions by variational iteration method," Journal of Mathematical Analysis and Applications, Vol. 345, pp. 476-484, 2008.
- [8] Ji-Huan He, "Approximate analytical solution for seepage flow with fractional derivative in porous media," Computer Methods in Applied Mechanics and Engineering, Vol. 167, pp. 57-68, 1998.

- [9] Z. Odibat, S. Momani, "Application of variational iteration method to nonlinear differential equations of fractional order," *International Journal of Nonlinear Sciences and Numerical Simulation*, Vol. 7, No. 1, pp. 27-34, 2006.
- [10] G. C. Wu, E. W. M. Lee, "Fractional variational iteration method and its application," *Physics Letters A*, Vol. 374, pp. 2506-2509, 2010.
- [11] A. Al-rabtah, S. Vedat, Ertürk, S. Momani, " Solutions of a fractional oscillator by using differential transform method," *Computers & Mathematics with Applications*, Vol. 59, pp. 1356-1362, 2010.
- [12] S. Momani, Z. Odibat, " Homotopy perturbation method for nonlinear partial differential equations of fractional order," *Physics Letters A*, Vol. 365, pp. 345-350, 2007.
- [13] S. Momani, Z. Odibat, " Numerical solutions of the space-time fractional advection–dispersion equation, " *Numerical Methods for Partial Differential Equations*, Vol. 24, pp.1416-1429, 2008.
- [14] Qi Wang, " Homotopy perturbation method for fractional KdV-Burgers equation, " *Chaos, Solitons & Fractals*, Vol.35, pp. 843-850, 2008.
- [15] S. Das, *Functional Fractional Calculus*, 2nd Edition, Springer-Verlag, 2011.
- [16] D. Kumar, J. Daiya, " Linear fractional non-homogeneous differential equations with Jumarie fractional derivative," *Journal of Chemical, Biological and Physical Sciences*, Vol. 6, No. 2, pp. 607-618, 2016.
- [17] M. I. Syam, M. Alquran, H. M. Jaradat, S. Al-Shara, " The modified fractional power series for solving a class of fractional Sturm-Liouville eigenvalue problems," *Journal of Fractional Calculus and Applications*, Vol. 10, No. 1, pp. 154-166, 2019.
- [18] J. C. Prajapati, " Certain properties of Mittag-Leffler function with argument x^α , $\alpha > 0$, " *Italian Journal of Pure and Applied Mathematics*, Vol. 30, pp. 411-416, 2013.
- [19] C. -H. Yu, " Differential properties of fractional functions, " *International Journal of Novel Research in Interdisciplinary Studies*, Vol. 7, No. 5, pp. 1-14, 2020.